ERMAO (51654 A1 HRE)

X 4 AOAN) | #HEHAER)
KFEKXKR 10 6
RFRK 116 55
K=F L5
WiF—TH 518 208
s =TB 689 348
I =TH 849 404
ILIZmTH 1,883 770
I HETH 277 207
RFEKF 32 20
BAXF—TH 358 146
BAF_TH 1,119 417
BKE=TH 1,236 477
RAFWNTH 66 25
KFILHE 7 3
[LE—TH 1,165 472
LE_—TH 1,190 534
L3E=TH 694 305
[GEEMT B 1,401 633
LHERATH 648 262
KEH—TH 844 356
KEFE_TH 2,291 1,110
5E—TH 816 430
BEZTH 718 348
HFE=TH 1,858 909
RF&FH 27 9
BHF—TH 368 193
BRHFZTH 240 26
WHFE=TH 257 100
RAEMTH 403 179
RAERTH 442 191
BEHE 342 157
LII—TH 1,163 643
SINNIZ=TH 2,838 1,102
KFESE
=E—TH 424 176
EEZTH 576 275
=E=TH 1,009 425
=11 2144 718
=WUE—TH 1,234 573
=WUE—-TH 1,418 732
ZFNith

=k 31,670 14,014




